TENSES MODALS

E-YDS 2019

1. The Romans, in particular the senatorial class, ----
themselves on the traditions of seriousness, plainness
and common sense that they ---- from their earliest
ancestors.

A) were to pride / would have inherited
B) would have prided / were inheriting
C) were priding / were going to inherit
D) prided / had inherited

E) had prided / have inherited

E-YDS 2018

2. By further study of a lizard's ability to regenerate its
tail, researchers ---- they ---- the same effect to treat
injured humans.

A) say / may harness

B) have said / might have harnessed
C) said / should have harnessed

D) had said / could have harnessed
E) will say / had better harness

3. ---- the types of individuals it seeks to attract for
recruitment, an organization needs to consider what
methods ---- to reach them.

A) Having established / to use

B) To establish / having been used

C) To have established / to be used

D) Having been established / having used
E) Establishing / using

4. However galaxies formed and evolved, the process ----
4. quickly very early in the history of the universe
because the age of the oldest galaxies ---- to be not
much younger than the age of the universe.

A) must have occurred / appears

B) used to occur / would appear

C) had to occur / had appeared

D) should have occurred / has appeared
E) could have occurred / appeared

5. ---- animal behaviour, ethology considers the fine
details of individual species behaviour in relation to
properties of the natural environment to which the
species ----.

A) Studying / have adapted

B) To study / had adapted

C) Having studied / would have adapted
D) Being studied / are adapting

E) To be studied / adapted

E-YDS 2017

6. In 1800 few people, either in Europe or the Americas, -
--- that 25 years later all of Spain's mainland American
colonies ---- independent republics.

A) could have anticipated / would be must have
B) anticipated / used to be

C) had to anticipate / should have been

D) would anticipate / could have been

E) should have anticipated / could be

7. Most immigrants aim ---- their economic situation,
which involves ---- employment in their new destination
country.

A) improving / to find

B) to be improving / having found
C) to have improved / to be finding
D) to improvef/finding

E) having improved / to have found

E-YDS 2016

8. Certain activities, odours and images ---- a stress
response that causes physiological symptoms in
asthma patients, so doctors ---- sufferers not to
overreact to things that are harmless.

A) were going to elicit / used to warn
B) may elicit / should warn

C) could elicit / had to warn

D) can elicit / would warn

E) might elicit / must have warned

9. Grey cats are said ---- to Europe from Syria during the
Crusades, and by the 18th century, one of these cats
called 'Charteux' ---- well- established.

A) having been brought / would become
B) to have brought / was to become

C) to be brought / has become

D) being brought / became

E) to have been brought / had become

10. Drugs that tone down or erase memory ---- anxiety in
skiers and other athletes who ---- frightening falls or
crashes while practicing their sport.

A) might prevent / have had

B) must prevent / have

C) should have prevented / had

D) used to prevent / will have

E) might have prevented / are having




11. Cancerous cells ---- dormant in a person's lungs
for decades, ---- to diversify and spread.

A) should lie / to wait

B) must lie / having waited
C) can lie / waiting

D) could lie / wait

E) may lie / to have waited

12. Tiny bioelectronic devices surgically ---- on nerves
interfere with and change the body's own processes
---- them function better.

A) implanting / making

B) implanted / to make

C) being implanted / to have made
D) to be implanted / having made
E) to implant / to be making

13. Walter Dill Scott of Northwestern University
suggested that advertisers ---- certain fundamental

principles on which ---- arational theory of advertising.

A) can develop / constructing

B) had to develop / having constructed

C) could develop / to be constructed

D) should develop / to construct

E) might have developed / being constructed

14. ---- the application of radioactive decay to dating
rocks, British geologist Arthur Holmes ---- throughout
the 1920s on trying to understand the Earth's interior.

A) To have pioneered / had worked

B) Having pioneered / worked

C) Pioneering / could work

D) Being pioneered / would have worked
E) Pioneered / had been working

E-YDS 2015

15. Theoretically, same sex siblings ---- with the same
selection of chromosomes, but the odds of this
happening ---- about 70 trillion.

A) could be created / would be
B) are created / had to be

C) had been created / may be
D) were created / should be

E) have to be created / must be

16. In mammals, if the body becomes too warm,
the hypothalamus in the brain signals the sweat
glands ---- it by ---- sweat.

A) cooling / to release
B) to cool / releasing
C) to be cooled / being released

D) having cooled / to be releasing

E) being cooled / to be released

17. The Beatles is a British pop group, ----in Liverpool in
1960, ---- at that time of John Lennon, Paul McCartney,
George Harrison and Pete Best.

A) forming / having consisted

B) having formed / to be consisting
C) having been formed / consisted
D) formed / consisting

E) to be formed / to consist

2019 ARALIK YDS

18. Summer ice ---- a series of record low levels in recent
years as the Arctic ---- twice as fast as the mid-latitudes.

A) hit / was warming

B) has hit / has been warming
C) hits / had been warming
D) will hit / warms

E) had hit / had warmed

19. Burials ---- an important role in the beliefs of the
Lycians, for they cut hundreds of tombs into the cliff
faces and crags that ---- throughout the area.

A) should have held/will be seen

B) were able to hold / should be seen
C) had to hold / might be seen

D) used to hold / have to be seen

E) must have held / can be seen

20. One of the greatest breakthroughs of the 17th
century was to understand how and why things move
and stop ----, and the key to the problem was that they
slow down and stop only when something forces them --
-- S0.

A) to be moved / having done
B) being moved / do

C) moving / to do

D) having moved / to have done
E) to move / doing

2019 EYLUL YDS

21. For the first time, doctors ---- that temporarily
opening the protective barrier of the human brain - to
boost the delivery of cancer medication to brain
tumours.

A) are showing / helped

B) have shown / helps

C) showed / is helping

D) will have shown/was helping

E) will be showing / has been helping




22. The Martian atmosphere is so thin, and the planet's
temperature so low that liquid water ---- there, and if it
ever did in the past, conditions ---- very different.

A) might not have existed / were to be
B) could not exist / may be

C) would not exist / can be

D) cannot exist / must have been

E) must not exist / should have been

23. A tsunami damaged emergency generators that ----
power to keep the nuclear reactors at Fukushima in
Japan cool; however, the earthquake ---- to the tsunami
also caused the cooling systems to fail.

A) should provide / to lead

B) could have provided / to have led
C) would have provided / leading

D) must have provided / having led
E) might provide / led

2019 MART YDS

24. In its early stage of development, ecotourism ---- as a
completely new concept, however, today, it ---- a
significant portion of the tourism industry in general.

A) was going to be regarded / is becoming
B) had been regarded / will become

C) was being regarded / is going to become
D) was regarded / has become

E) has been regarded / becomes

25. As two-thirds of homes in the US owned radio
receivers by the end the 1920s, people no longer ----to a
concert, play, or sporting event to be entertained;
instead, they ---- many

forms of entertainment from the comfort of their homes.

A) should have gone / must have enjoyed
B) may go / were able to enjoy

C) had to go / could enjoy

D) used to go / may have enjoyed

E) would go / ought to have enjoyed

26. Humanity's extraordinary success ---- due to our
ingenuity in devising cultural means ---- our physical
limitations.

A) has been / to overcome
B) was / having overcome
C) had been / overcoming
D) is / overcome

E) will be / to have overcome

2018 SONBAHAR-2(ARALIK) YDS

27.In recent years, linguists ---- whether the
homogenising effects of TV, film, and the Internet ---- to
eliminate many so-called regionalisms in the language in
the US.

A) ponder / were beginning

B) have pondered / have begun

C) have been pondering / will have begun
D) are pondering / will be beginning

E) pondered / will begin

28.From asteroid strike to nuclear war, humanity ---- all
kinds of existential threats, yet, if humankind
disappeared tomorrow, nobody knows what kind of
planet we ---- behind.

A) faced / should be leaving

B) has faced / would be leaving
C) had faced / may be leaving
D) is facing / have to be leaving
E) faces / must be leaving

29. After ---- victorious from World War |, structural
problems and massive debt plunged Great Britain into
an economic crisis that ---- into the middle of the 1930s.

A) to emerge / was lasting

B) having been emerged / has lasted
C) having emerged / would have lasted
D) emerging / lasted

E) being emerged / had lasted

2018 SONBAHAR YDS

30.For along time, scientists --- aware that the Earth's
atmosphere is not static but in constant motion,
producing areas of ever-changing pressure around the
globe, but from 1700 onward, scientists ---- to discover
how and why large-scale atmospheric movements
occur.

A) had been / have begun

B) would have been / had begun
C) have been / began

D) would be / were beginning

E) were / would have begun

31. Science ---- our every question, but it ---- humanity's
best tool yet for tackling our greatest challenges.

A) may not answer / had remained
B) must not answer / has remained
C) should not answer / will remain
D) cannot answer / remained

E) might not answer / remains




32. Five of the Solomon Islands ---- whole by rising sea
levels, ---- a glimpse into the future of other low-lying
nations, such as the Netherlands and ltaly.

A) are being swallowed / having offered
B) had been swallowed / being offered

C) will be swallowed / having been offered
D) were swallowed / offered

E) have been swallowed / offering

2018 ILKBAHAR YDS

33. A number of studies have concluded that a given
level of carbon dioxide in the atmosphere ---- less
warming than previously ----.

A) is producing / to think

B) has produced / thinking

C) produces / thought

D) has been producing / having thought
E) had produced / being thought

34. Anyone who ---- unusual reactions to antihistamines
(medicines that relieve or prevent the symptoms of
some kinds of allergy) in the recent past ---- his or her
physician know before taking the drugs again.

A) used to have / might let
B) had had / must have let
C) was having / could let
D) has had / should let

E) had / might have let

35. By 2.5 million years ago, when they began ---- stone
tools, early humans had understood that they ---- the
natural world to their own advantage.

A) making / could alter

B) to make / used to alter

C) to have made / had to alter

D) having made / should have altered

E) to have been making / must have altered

2017 SONBAHAR YDS

36. In 1517, the Italian physician Girolamo Fracastoro
was probably the first person ---- that fossils are animal
remains; however, it was not until the 18th century that
scientists ---- to realise that fossils can tell us a great
deal about the history of living things.

A) suggesting / had begun

B) being suggested / were beginning

C) to have suggested / have begun

D) to suggest / began

E) having suggested / were going to begin

37. The technological advancements that once made
nations prosperous, such as the internal combustion
engine, ---- to shatter empires during the First World
War, on a scale few people ---- before the outbreak of the
war.

A) had been used /should have imagined

B) should have been used /used to imagine

C) would have been used /might have imagined
D) were used /could have imagined

E) must have been used /can imagine

38. Tomatoes are so widely consumed that they
represent a vehicle ---- beneficial nutrients to those who
---- expensive seasonal berries.

A) having introduced / would not afford
B) introducing / could not afford

C) to have introduced / may not afford
D) to introduce / cannot afford

E) being introduced / might not afford

2017 ILKBAHAR YDS

39. New research ---- that mother monkeys ---- to other
females to help share the burden of raising increasingly
dependent offspring.

A) had suggested / were turning
B) has suggested / turn

C) suggested / have turned

D) suggests / had turned

E) will suggest / are turning

40. Patients with implants or electronic devices put
inside their bodies ---- using magnetic resonance
imaging (MRI) because the machine's magnet ---- these
objects within the body, causing damage.

A) should not be examined / must move
B) could not be examined / had to move
C) may not be examined / used to move
D) cannot be examined / could move

E) must not be examined / ought to move

41. In the age of steam, with new railroads ---- across
Europe and the US, engineers began ---- even more
applications for the steam engine.

A) spreading / to find

B) having spread / to have found
C) to spread / finding

D) to have spread / find

E) spread / having found




2016 SONBAHAR YDS

42. Although Immanuel Kant, one of the greatest
thinkers in the history of philosophy, ---- many pieces of
technical terminology to articulate the themes of his
critical philosophy, perhaps none ---- more pervasive
than a priori.

A) was introducing / was

B) introduced / is

C) had introduced / had been

D) used to introduce / has been

E) had been introducing / would be

43. In cultures that ---- up to more recent times, we
---- further clues to past beliefs.

A) will survive / need to find
B) had survived / could find
C) survived / would find
D) survive / used to find
E) have survived / may find

44. The Internet provides a platform which enables new
products ---- more rapidly since it is possible ---- new
ideas and concepts through online research.

A) to be developed / to test

B) to develop / to have tested

C) developing / to be tested

D) being developed / testing

E) having developed / being tested

2016 ILKBAHAR YDS

45. With the development of agriculture, humans
---- to transform more and more extensively the
environments in which they ----.

A) had begun / had been living

B) are beginning / were living

C) began / lived

D) have begun / were going to live
E) would begin / have been living

46. Any student who ---- four years in high school or
college attempting to learn a second language ---- the
struggle of trying to memorize vocabulary, verb
conjugation or tenses.

A) was spending / had to appreciate

B) spends / has to appreciate

C) had spent / should have appreciated
D) has spent / can appreciate

E) is spending / used to appreciate

47. For many consumers from all over the world, the
Internet is the first place ---- for useful information that --
--them about what they buy.

A) to look / will inform

B) looking / has informed

C) to have looked / informs

D) to be looking / is informing

E) having looked / will have informed

2015 SONBAHAR YDS

48. Costa Rica ---- the first country in Central America to
grow coffee, and for the last 100 years, this ---- its
leading export.

A) is / was

B) was / has been

C) had been / used to be
D) would be / had been
E) could / is

49. Complex human language ---- suddenly and without
progression; like other advanced capabilities, it ----in a
series of stages.

A) does not appear / can evolve

B) has not appeared / might evolve

C) did not appear / must have evolved

D) will not appear / could have evolved

E) had not appeared / should have evolved

50. Many advanced nations ---- space exploration, and
plans are under way ---- a human presence on Mars.

A) have begun / to see

B) begin / seeing

C) are beginning / to have seen
D) began / being seen

E) had begun / having seen

2015 ILKBAHAR YDS

51. It ---- fourteen years since his last feature film,
Ryan’s Daughter, when David Lean ---- to filmmaking
with his 1984 adaptation of E. M. Forster’s celebrated
novel, A Passage to India.

A) had been / returned

B) has been / had returned
C) was / returns

D) will be / would return

E) is / has returned




52. Behind every architectural masterpiece ---- a brand
new technology without which these structures ---- a few
years ago.

A) has been / did not have to be built

B) is / could not have been built

C) had been / would not have been built
D) was / need not have been built

E) will be / should not have been built

53. Philosophy did not play a large part in Roman
culture, other than Stoicism, which ---- by the Romans
for its emphasis on virtuous conduct and ---- one’s duty.

A) is to be admired / to have done
B) is admired / to do

C) had been admired / having done
D) was admired / doing

E) could be admired / being done

2014 SONBAHAR YDS

54. The famous artist Raphael’s final works ---- so good
that museums like the Prado and the Louvre ---- awhole
exhibition to them.

A) were / have dedicated

B) should have been / dedicate

C) are / had dedicated

D) would be / are dedicating

E) have been / will have dedicated

55. If the soldiers ---- at the beginning of the siege of
Rhodes Island, they ---- to Crete or somewhere else with
their treasures.

A) surrender / must have been transported

B) would surrender / could be transported

C) had surrendered / might have been transported
D) used to surrender / could have transported

E) could surrender / should have been transported

56. A new type of airport X-ray scanner -- lately by an
innovative company -- the contents of bottles.

A) has been built / to detect

B) was built / to have detected

C) will be built / being detected

D) had been built / having detected
E) is built / to be detected

2014 ILKBAHAR YDS

57. You ---- good about helping others when you see
how it ---- a difference for someone else.

A) feel / will have made
B) are feeling / had made
C) will feel / has made

D) felt / is making

E) had felt / will make

58. In September 2003, the National Book Foundation ----
that Stephen King ---- the recipient of a ‘lifetime award’.

A) would be announcing / is to be
B) announces / has to be

C) had announced / used to be

D) had been announcing / has been
E) announced / would be

59. ---- by the Romans first and then by Arabs, Crete ----
by the Ottomans in the 17" century.

A) Taking over / had been conquered

B) Having been taken over / had conquered
C) Having taken over / conquered

D) Taken over / was conquered

E) To be taken over / was being conquered

2013 YDS SONBAHAR

60. The discovery that the Universe ---- at an
accelerating rate ---- two rival teams of scientists a Nobel
Prize in Physics.

A) is expanding / has earned

B) will be expanding / had earned

C) was expanding / must have earned
D) could expand / should have earned
E) ought to expand / may have earned

61. A report by the Japanese government ---- that the
disaster in 2011 at the Fukushima Nuclear Plant ----.

A) could reveal / will be foreseen

B) can reveal / should have been foreseen
C) reveals / must be foreseen

D) has revealed / needs to be foreseen

E) revealed / could have been foreseen

62. Scientists in the US ---- the rivers, streams and
floods of ice at the Antarctic, ---- a fascinating picture of
a constantly shifting continent.

A) mapped / having been painted
B) are mapping / painted

C) have mapped / painting

D) will be mapping / having painted
E) had mapped / being painted

2013 YDS iLKBAHAR

63. The physics of elementary particles in the 20"
century ----by the observation of particles whose
existence ---- by theorists decades earlier.

A) has been distinguished / was predicted

B) distinguished / is being predicted

C) was distinguished / had been predicted

D) is distinguished / has been predicted

E) had been distinguished / was being predicted




64. At the end of the First World War, the leaders of
victorious countries gathered at Versailles, and there,
they ---- to decide what penalties Germany, Austria and
other allies ----.

A) tried / would have to pay

B) had tried / must have paid
C) were trying / were paying

D) used to try / might have paid
E) could try / should have paid

65. ---- the types of individuals it seeks to attract, an
organization ---- to consider what methods to use to
reach them.

A) To have established / could need
B) Having established / needs

C) Establishing / had needed

D) Established / needed

E) Being established / will need

YOKDIL 2020 ILKBAHAR (SOSYAL BILIMLER)

66. Most sociologists ---- that over the past decades, the
concept of family ---- significant and rapid changes.

A) should agree / would undergo

B) agree/has undergone

C) need to agree / had undergone
D) might agree / used to undergo

E) had agreed / will have undergone

67. Though it is now part of Greater London, Hampstead
in England ---- once a separate village, and it ---- a village
character to this day.

A) would be / will retain
B) has beenl/is retaining
C) had been / retained
D) is / has retained

E) was/ retains

YOKDIL 2020 iLKBAHAR (SAGLIK BILIMLERI)

68. You ---- stretching many times, but you ---- of it as a
key part of your workout; as stretching for 10-15 minutes
post-workout relieves sore muscles.

A) must have skipped / could have thought
B) should have skipped / have to think

C) might have skipped / would have thought
D) may have skipped / should think

E) could have skipped / used to think

69. In 2014, the US confirmed 125 cases of measles and
declared that nearly half of the victims ---- against
measles, so it seems the reason of the outbreak ----
America’s growing anti-vaccination movement.

A) have not been vaccinated / is

B) had not been vaccinated / was
C) were not vaccinated / will be

D) will not be vaccinated / has been
E) are not vaccinated / had been

YOKDIL 2020 ILKBAHAR (FEN BILIMLERI)

70. At the end of the 17th century. Isaac Newton ---- his
laws of motion and gravity, making science more
precise and mathematical than it ---- before.

A) had set down /would have been
B) was setting down /has been

C) set down / had been

D) would set down / was

E) had been setting down / would be

71. Over the past 100 years, the relativity theories and
guantum mechanics ---- major triumphs at the cost of us,
---- our classic conception of time.

A) have celebrated / losing

B) celebrated / to have lost

C) have been celebrated / having been lost
D) had celebrated / being lost

E) were celebrated / to be lost

YOKDIL 2019 SONBAHAR (SOSYAL BILIMLER)

72. The Amish ---- from a relatively small founding
population, and each major settlement ---- largely
genetically isolated from both other Amish settlements
and the surrounding U. S populations for over 200 years.

A) originate / will remain

B) originated / has remained

C) had originated / remained

D) were originating / remains

E) have originated / had remained

73. A popular social networking site says if everything
---- as planned, they ---- a new privacy-protected
messaging service by the end of 2020.

A) has gone / start

B) is going / will be starting
C) had gone / will start

D) went / are to start

E) goes / will have started




YOKDIL 2019 SONBAHAR (SAGLIK BILIMLERI)

74. Findings of arecent study ---- that green teas and
carrots ---- a part in fighting Alzheimer’s disease, though
there is need for more research.

A) has suggested / would pay

B) have suggested / should have played
C) suggest / could play

D) suggested / used to play

E) are suggesting / will have played

75. The essential oil ---- from the lavender flower is used
in aromatherapy ---- anxiety, insomnia, nervousness,
and restlessness.

A) deriving / to have treated
B) derived / to treat

C) to have derived / treated
D) to be derived / treat

E) to be deriving / treating

YOKDIL 2019 SONBAHAR (FEN BILIMLERI)

76. Although smartphones ---- arguably the most popular
gaming platform for the past couple of years, they do
not have the ability ---- with desktop computers.

A) have been / to complete
B) were / to be competing

C) could be / competing

D) are / to have completed

E) must have been / compete

77. E-mail advertising ---- a good reputation these days,
as people realise that it ----- affordable and effective.

A) gets / has to be

B) was getting / could be

C) has been getting / used to be
D) will get / should be

E) is getting / can be

YKS 2019

78. Implantation of the embryo is a milestone in
human development as it is from this stage
onwards that the embryo ---- to take shape and the
overall body

plan ----.

A) began / had been decided

B) begins / is decided

C) had begun / will be decided

D) will begin / was decided

E) is beginning / has been decided

79. Even though the theoryof dualism ---- ,many
people still cling to the idea that consciousness ----
outside of the body.

A) has been disproven / can exist

B) was disproven / could exist

C) is disproven / had to exist

D) had been disproven / should have existed
E) will be disproven / must have existed

80. The Great Barrier Reef is one of the longest reefs
in the world, ---- more than 2000 kilometres along
the northeastern coast of Australia.

A) to have extended

B) to extend

C) having been extended
D) extending

E) having extended

2018 YKS

81. Although simple games ---- availableon
mainframe computers in the years after the Second
World War, their widespread adoption ----until the
emergence personal computers.

A) were going to be / could wait

B) had been / should have waited

C) were / had to wait

D) used to be / would have waited

E) would have been / must have waited

82. Therapid disappearance of Arctic ice ---- the use
of an undersea Internet cable, ---- a shorter path
between Europe and Asia.

A) can enable / to be created

B) must enable / being created
C) would enable / to have created
D) may enable / creating

E) should enable / to be creating

83. The first woman to cycle around the world was
the Latvian-American Annie Kopchovsky who ----
financial sponsorship in return for ----an advertised
placard on her bike.

A) had received / to be hung

B) was receiving / to hang

C) has been receiving / being hung
D) received / hanging

E) would receive / having hung




YKS 2017

84. Well before printing frommoveable types ---- by
Gutenberg, a great deal of printing on paper by
woodcut ---- in Asian regions.

A) was developed / had been done

B) had to be developed / was done

C) were being developed / was to be done
D) was to be developed / has been done
E) would be developed / was being done

85. For years it ----that life ---- below a certain depth
or above a certain heat.

A) will be thought / might not exist

B) is thought / cannot exist

C) was thought / could not exist

D) has been thought / should not exist

E) had been thought / would not have existed

86. ---- by a Roman-Goth coalition in Gaul in 452 AD,
the Huns, led by King Attila, invaded northern lItaly, -
--- Padua and Verona.

A) Having been defeated / attacking

B) To have been defeated / being attacked
C) To defeat / having attacked

D) Defeating / to have attacked

E) Being defeated / to be attacked

YKS 2016

87. Humans ---- 43 percent of the Earth’s surface
from its natural state radically, far greater than the
smaller changes that ---- trigger the last great
planetary shift during the ice ages.

A) would alter / have helped
B) had altered / help

C) have altered / helped

D) alter / will help

E) will alter / had helped

88. Today, enormous amounts of information ----
around the globe almost instantaneously in a way
that ---- possible a few years ago.

A) used to be distributed / might not have been
B) had to be distributed / may not have been
C) must be distributed / should not have been
D) can be distributed / could not have been

E) would be distributed / must not have been

89. ---- as atemple in the 2nd century AD, the Pantheon
in Rome ---- famed for its dome, one of the largest ones
in the world.

A) Having created / was

B) Created / is

C) Creating / has been

D) To be created / could be

E) Being created / should have been

2015 YKS

90. During his days as a graduate student in clinical
psychology in the late 1960s, Daniel Goleman knew two
women who ---- from eating disorders, though he
realized this only after many years ----.

A) were suffering / were passing

B) would have suffered / have passed
C) were to suffer / would be passing
D) suffered / had passed

E) had suffered / had been passing

91. The body ---- itself from infections, but if it responds
too slowly, it ----.

A) may defend / would not have survived
B) should defend / could not have survived
C) must defend / might not have survived
D) had to defend / cannot survive

E) can defend / may not survive

92. Disease or injury ---- nerves from sending
appropriate signals or force them ---- inappropriate ones.

A) should prevent / being sent
B) might prevent / to have sent
C) could prevent / sending

D) must prevent / having sent

E) may prevent / to send

2014 YKS

93. The fundamentals of painting ---- as a series of dos
and don’ts that ---- from teacher to student.

A) were being presented / had been passed down

B) will be presented / were passed down

C) have been presented / would have been passed down
D) had been presented / will be passed down

E) are presented / have been passed down

94. Making friends ---- a number of positive effects on
the ways children interact, and these effects ---short-
term or long-term.

A) can have / could be

B) would have / may be

C) might have / used to be

D) must have / should be

E) may have / would have been




95. Scientists ---- at Stanford University School of
Medicine in the US have invented an implant that could
help the blind ----.

A) worked / having seen

B) having worked / to have seen
C) to work / seeing

D) to have worked / see

E) working / to see

2013 YKS

96. Turkish TV soap operas ---- so popular in the Arabic
World that the shows ---- a boom in tourism from the
Middle East to Turkey.

A) have become / are driving
B) became / will drive

C) had become / have driven
D) become / had driven

E) will become / were driving

97. Previous standards of data collection in biology ---
typically limited to what ---- interesting for some future
experiment in the same laboratory.

A) are / must be

B) had been / can be

C) were / might be

D) have been / used to be
D) will be / could be

98. A huge fossil turtle is the latest species ---- the ranks
of super-reptiles that are now known ---- in ancient
Colombia.

A) to have joined / living
B) joining / having lived
C) being joined / to live
D) to join / to have lived
E) having joined / lived

2012 YKS

99. Tourists visiting China ---- Mount Lushan as a
magnificent mountain that ---- out of the water.

A) had described / should rise up

B) described / would have risen up

C) have described / rises up

D) would describe / will rise up

E) were describing / has been rising up

100. Theorigins of Western cooking, ---- to ideas

about diet and nutrition that ---- during the 17th
century.

A) might be traced / have appeared
B) must be traced / appear

C) have to be traced / were appearing
D) can be traced / appeared

E) could be traced / are appearing

101. Bessie Smith, who ---- her stage career in the
1910s as a dancerand singer, ---- the most well-
known blues singer of the 1920s.

A) began / was

B) had begun / had been
C) has begun / has been
D) would begin / would be
E) was beginning / could be

2011 YKS
102. The Sumerian civilization ---- the first
alphabet, which ---- it easier for older generations

topass on their cultural heritage to younger
generations.

A) will have developed / has made
B) would have developed / made
C) developed / makes

D) would develop / had made

E) were developing / will make

103. Thefirst English immigrants to whatis now
the United States ---- the Atlantic long after
colonies ---- in Mexico and South America.

A) would be crossing / must have been established
B) had crossed / were established

C) will be crossing / have been established

D) cross / are established

E) crossed / had been established

104. The Earth ---- more solar energyin one hour
than the whole world ---- in ayear.

A) has received / will be consuming
B) is receiving / is consuming

C) received / would consume

D) receives / could consume

E) had received / consumed

2010 YKS

105. The wolves that ---- in Ethiopia some 100,000 years
ago ---- into a separate and rare species.

A) had arrived / will have evolved
B) arrive / will evolve

C) were arriving / had evolved

D) have arrived / evolved

E) arrived / have evolved

106. People in England ---- books about Turkey since the
15th century, but unfortunately an increase in quantity
---- by an increase in quality.

A) had been writing / does not match

B) are writing / will not be matched

C) had written / are not matching

D) have been writing / has not been matched
E) wrote / had not been matched

10



107. It ---- weeks since Harry ---- his mother looking so
relaxed and happy.

A) is / would have seen

B) had been / would see
C) would be / has seen

D) will be / may have seen
E) has been / saw

108. Most of the writers of grammars of English ----
teachers, but some early grammar books of English ----

by men such as playwrights, scientists or philosophers.

A) are / can be written

B) have been / were written

C) were / could have been written
D) had been / were written

E) may be / have been written

11
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